

$$(1) \int_0^{m\pi} f(\sin x)g(\cos x)dx = \sum_{k=0}^{m-1} \int_{k\pi}^{(k+1)\pi} f(\sin x)g(\cos x)dx = \sum_{k=0}^{m-1} \int_0^{\pi} f\{\sin(x+k\pi)\}g\{\cos(x+k\pi)\}dx$$

$$\downarrow$$

$$x = x - k\pi \text{ とおす. } \begin{matrix} x & | & k\pi \rightarrow (k+1)\pi \\ x & | & 0 \rightarrow \pi \end{matrix}, \frac{dx}{dx} = 1$$

$$= \sum_{k=0}^{m-1} \int_0^{\pi} f(\sin x \cdot \cos k\pi)g(\cos x \cdot \cos k\pi)dx = \sum_{k=0}^{m-1} \int_0^{\pi} f(\sin x)g(\cos x)dx = m \int_0^{\pi} f(\sin x)g(\cos x)dx$$

①

* k が奇数のときは ① = $\int_0^{\pi} f(\sin x)g(-\cos x)dx$ とおす. $f(x), g(x)$ が偶関数とおすときは ① = $\int_0^{\pi} f(\sin x)g(\cos x)dx$
 k が偶数のときは ① = $\int_0^{\pi} f(\sin x)g(\cos x)dx$

$$(2) \int_0^1 \frac{|A'mx|}{(1+\cos^2 nx)^2} dx = \int_0^{\pi} \frac{|A'mx|}{(1+\cos^2 x)^2} \frac{1}{n} dx = \frac{1}{n} \int_0^{\pi} \frac{|A'mx|}{(1+\cos^2 x)^2} dx$$

②

$$nx = x \text{ とおす. } \begin{matrix} x & | & 0 \rightarrow \pi \\ x & | & 0 \rightarrow \pi \end{matrix}, \frac{dx}{dx} = n$$

$$m\pi \leq n < (m+1)\pi \text{ かつ } \textcircled{2} \text{ かつ } \int_0^{m\pi} \frac{|A'mx|}{(1+\cos^2 x)^2} dx \leq \int_0^{\pi} \frac{|A'mx|}{(1+\cos^2 x)^2} dx < \int_0^{(m+1)\pi} \frac{|A'mx|}{(1+\cos^2 x)^2} dx$$

③

$$\textcircled{1} \text{ かつ } \textcircled{4} = m \int_0^{\pi} \frac{|A'mx|}{(1+\cos^2 x)^2} dx = m \int_0^{\pi} \frac{A'mx}{(1+\cos^2 x)^2} dx \text{ --- } \textcircled{4}'$$

$$\textcircled{5} = (m+1) \int_0^{\pi} \frac{|A'mx|}{(1+\cos^2 x)^2} dx = (m+1) \int_0^{\pi} \frac{A'mx}{(1+\cos^2 x)^2} dx \text{ --- } \textcircled{5}'$$

$$\int_0^{\pi} \frac{A'mx}{(1+\cos^2 x)^2} dx = V \text{ とおす. } \textcircled{2} \textcircled{3} \textcircled{4}' \textcircled{5}' \text{ かつ } \frac{m}{n} V \leq \int_0^1 \frac{|A'mx|}{(1+\cos^2 nx)^2} dx < \frac{m+1}{n} V$$

⑥

$$\text{つまり } n < (m+1)\pi \text{ かつ } \frac{m}{n} > \frac{m}{(m+1)\pi}, m\pi \leq n \text{ かつ } \frac{m+1}{n} \leq \frac{m+1}{m\pi} \text{ とおす}$$

$$\textcircled{6} \text{ かつ } \frac{m}{(m+1)\pi} V < \int_0^1 \frac{|A'mx|}{(1+\cos^2 nx)^2} dx < \frac{m+1}{m\pi} V, \frac{m}{(m+1)\pi} V \leq \int_0^1 \frac{|A'mx|}{(1+\cos^2 nx)^2} dx \leq \frac{m+1}{m\pi} V$$

(3) $n < (m+1)\pi$ かつ $m > \frac{n}{\pi} - 1$ とおす. $n \rightarrow \infty$ かつ $m \rightarrow \infty$

$$\lim_{m \rightarrow \infty} \frac{m}{(m+1)\pi} V = \lim_{m \rightarrow \infty} \frac{1}{(1+\frac{1}{m})\pi} V = \frac{V}{\pi}, \lim_{m \rightarrow \infty} \frac{m+1}{m\pi} V = \lim_{m \rightarrow \infty} \frac{1+\frac{1}{m}}{\pi} V = \frac{V}{\pi}$$

$$V = \int_0^{\pi} \frac{A'mx}{(1+\cos^2 x)^2} dx = - \int_1^{-1} \frac{1}{(1+x^2)^2} dx = \int_1^{-1} \frac{1}{(1+x^2)^2} dx = \int_0^{\frac{\pi}{4}} \frac{1}{(1+\tan^2 \theta)^2} \frac{1}{\cos^2 \theta} d\theta$$

$$\cos x = x \text{ とおす. } \begin{matrix} x & | & 0 \rightarrow \pi \\ x & | & 1 \rightarrow -1 \end{matrix}, \frac{dx}{dx} = -\sin x$$

$$x = \tan \theta \text{ とおす. } \begin{matrix} x & | & 0 \rightarrow 1 \\ \theta & | & 0 \rightarrow \frac{\pi}{4} \end{matrix}, \frac{dx}{d\theta} = \frac{\cos \theta \cdot \cos \theta + \sin \theta \cdot \sin \theta}{\cos^2 \theta} = \frac{1}{\cos^2 \theta}$$

$$= \int_0^{\frac{\pi}{4}} \frac{1}{(1+\tan^2 \theta)^2} \frac{1}{\cos^2 \theta} d\theta = \int_0^{\frac{\pi}{4}} \frac{1}{\cos^2 \theta} d\theta = \int_0^{\frac{\pi}{4}} \frac{1+\cos 2\theta}{2} d\theta = \left[\theta + \frac{1}{2} \sin 2\theta \right]_0^{\frac{\pi}{4}} = \frac{\pi}{4} + \frac{1}{2}$$

(2) かつ (1) かつ (3) の原理より $\lim_{n \rightarrow \infty} \int_0^1 \frac{|A'mx|}{(1+\cos^2 nx)^2} dx = \frac{1}{4} + \frac{1}{2\pi}$